
No. of Printed Pages : 8 EEC-5

BACHELOR'S DEGREE PROGRAMME

L
	 Term-End Examination

O
	 June, 2010

O	 ELECTIVE COURSE : ECONOMICS
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Note : Answer two questions from Section-A, three questions

from Section-B and three questions from Section-C.

SECTION - A

Answer any two questions from this section.	 2x10=20

A competive firm uses a production function

2	 4
q = —12 — —

L 
— —

K 
where q is output, L is labour

and K is capital. If the price of its output is 9 , the

price of labour is 2 and the rental of capital is 4

find the maximum profit. Also find the amount

of labour and capital for which profit is

maximised.

0.2	 0
For the technology matrix 0.5 0.04 find the

sectoral multipliers.
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3.	 Consider the production function y=ALaK°

Find average productivity of labour as a	 3
function of L.

Show that marginal productivity is	 7

proportional to average productivity.

	

4.	 Suppose the demand and supply function of a
particular commodity are given by :

Dt = a —bPt"a b > 0

St 	C+ dPt _ l c, d > 0 , a > c

Dt = St

Obtain the time path for price.	 5

Under what conditions will this market be	 5
dynamically stable ?
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SECTION - B
Answer any three question from this section.	 3x7=21
5.	 Find the inverse of the matrix : 	 7

[413]

Solve the following differential equation 	 7
y2dx - (1-x) dy = 0

If the demand function is y = 32 -4x -x2 , find	 7
the consumer's surplus, if x0 = 3.

(a) State the mean value theorem for a function 	 4
y =f (x) in the interval (a , b).

(b) Show that the mean value theorem is 	 3

applicable to the function y -
x- 

1 where

2 < x 4 .

(a) Calculate the price elasticity of qd = a - bp"	 4

(b) A monopolist has marginal revenue curve 	 3
MR =100 - 10q.

Calculate his average revenue function.
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SECTION - C
Answer any three question from this section.

Solve : 3x3=9

J1 3x- dx

Given the set {1, 7, 12, 27}. How many subsets
are there altogether ?

12. If 
A 

= [11	 3 B —1
01	 [3]
1 and C =	 1

find the following :
A — 2B
AB

(c)	 C'B

1
1
1

13. Find the determinant of the matrix.

3 0 —21
6 —8 1
0 3 4

A=
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1.1.7:11-5
7cral. chi ,h4-1

t-1741.c1 IfftW

79', 2010

41ckg ?t11-1: 31471M.

: 31.2tPTI 7 -9-re-Tr-	 q

Fa	 ruzit
KLILi q : 2 Vu' r	 3TR/WTT/ 31 : 50

( 9-77-ThdT : 70%)

d :	 W7T ' k--4f mil,' 91P7 '75'#

9IPT	 071 W7}.- dri1 4q

-

ITirr	 /7'-9-R-t	 :	 2x10=20

th-4 3c4-11q-f	 7:1-1-Tr	 1t it t :

2	 4 	
q = —12 — —L — —K	 3cM1q-I t, L NTT t	 K

ti itTFIt 3c141q-f	 -1." 11:rU 9 * 3T11.

2 * 1=t-	 -47TM (rental) 4 t 	 3-1111Wd4Ifcf

T(Tk 3-1--ffra1 T7r 3frt	 Trfrr	 LIc1t-

r1 1 11	 -f-t=rk Fri	 fwzrf 4 111 t

0.2	 0
aTVIPT-471. 34Wfft 	 [0.5	 0.04 1	 T3T-
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3.	 3c41 q -f	 fa-q7 -4f—A7 : y= ACV

L	 410-f	 t,-‘ 14	 ql=f i t 31 	 c41q ohtlf ql1cf	 3

7I

77i-47f	 irci 3c41q ohd1, 3T:17 c41q*dr *k	 7

t-141T4ld	 ld1 t I

	4.	 (11 FA	 a-Tq 4	 f	 3irckf4

:

Dt = a — bPt , a, b > 0

St = C+dPt _ i c, d > 0,a >c

Dt = St

-1:[r	 °Foci -cr2T	 7-ffr
	

5

f*-9• q 11.3-ff	 31'TM 1 	 Icq1c4-10h tcN 4 	 5

#9-17 Thf?
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VITT - 7Tr

R771;17t	 tilt	 :	 3x7=21

5.	 3Tr	 mrcm114	 traT	 :

4	 3

6. iRocrf-A7 :

y2dx - (1- x) dy = 0

1-IT'f 91 0-f t, y = 32-4x-x2 , w14-1T-k 31-f-.7-17	 7

4cIf	 xo =3.

(a)	 31'7.7 (a , b) 	  y =f (x)	 1	 i lira( TITS	 4

174z1.	 T-q?r

(b)	 rob Trrui-4-N 7474, n-no-r y - 	  97	 3
x-1

opLtr ,Ir 2 < x 4 .

9.	 (a)	 1 4-1 ri	 LiRenrod	 :	 4

qd = a - bpct

(b)	 f-*-{# T*-TRT*-Tt a11:1-114fff 3-74 (496 t :	 3

MR =100 - 10q-

7-*-rfti-Tit	 A=rff 3TP4 41(1 ,-r 	 fti-A7 i

7

7
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%MT - Tr

“ WTI 	 rt 'i 371t	 3x3=9

r2
j i 3x 2 

dx

qfq t-1 41-,=q 4 t, {1, 7, 12, 27}, ij
d4R-1 1A-A q t

12. 	 1

Fri	 fig -T1 I	 cf	 :

A - 2B	 1
AB	 1

(c)	 C'B	 1

13. 311-67	 ulch	 (determinant) ;11d	 :

3	 0 -2
A= 6 -8 1

0	 3 4

7ffq A = [1 
34]

, B [ 2
-1 01 3T1T C =

 [311
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